Past papers, Global Health:-

1. Policy triangle, context :- Political, economic,.... (all of the above)

2. HIV is transmitted through :- Unsafe blood transfusion , sexual
intercourse..... (all of the above)

3. Wrong about HIV :- Discovered in the mid-1970s

2. Percentage of children infected with HIV are in treatment :- Less
than 25%

©. A pregnant does not receive prophylaxis ARVs increase the risk
of HIV infection by :- 33%

6. A man had been medically circumcised with the foreskin being
entirely removed reducing the chance to be HIV positive by :-
60%

7. UNAIDS :- B,C And D = 90%,90%,90%

8. Number of people fall in sick with TB yearly :- 9 million

9. Wrong about measles :- Transmitted through bacteria

10. Wrong about TB :- 50% of HIV patients die from TB +50% of TB
deaths occur in low and middle income

T1. Wrong about DOTS :- Health worker-observed intake of the
medicine at least for first two weeks

12. Post-2015 global TB strategy :- 95% reduction in TB deaths and
90% reduction in new cases

13. Does not influence antibiotic resistance :- Global warming

12 Most common cause of death all over the world :-
Cardiovascular diseases

15. Main non-communicable diseases caused about :- 60% of all
death

16. The leading causes of death of young people (16-29) :- Traffic
accidents followed by suicide

17. Vaccines to prevent cancers against :- HPV +HBV

18. Wrong about wasting :- High BMI



19. Wrong about stunting :- Short term condition
20. Most frequent micronutrient deficiency :- Iron

21. 20 Out of 667 million children :- 24% stunted,7% wasted and 6%
overweight

22. The single largest infection cause of death is :- Pneumonia

23. Pneumonia, Diarrhea and malaria :- Cause 1.8 million + one third
of all child deaths

22 Key measures to prevent diarrhea, except :- Prophylactic
antibiotics

295. Measles mortality reduced by :- 75%

26. Percentage of children receiving at least one dose of measles :-
85%

217. Not tested during antenatal care :- H.pylori

28. Fast growth of the world will end after :- 50 years

29. According to MDGs, MMR should be reduced by :- 75% (not
sure of the answer)

30. Barriers for screening are :- Lack if time , lack of effective
interventions,....all of the above

31. According to SDGs, there will be reduction in neonatal mortality
from19 to :- 12 per 1000

Good Luck



